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1. Use the left end points and 3 rectangles to find an approximation of the area of the
region between the graph of the function f(x) = 2x2−x− 1 and the x-axis over the
interval [2, 5]

(a) 46 (correct)

(b) 47

(c) 49

(d) 51

(e) 45

2. The lower sum (in terms of n, the number of subintervals), for the region bounded
by the graph of the function f(x) = 9− x2 on the interval [0, 2] is:

(a)
46

3
− 4

n
− 4

3n2
(correct)

(b)
64

3
− 4

n
+

4

3n2

(c)
46

3
+

4

n
− 4

3n2

(d)
46

3
− 4

n
+

4

3n2

(e)
46

3
+

4

n
+

4

3n2

96650
Typewritten Text
Question 31 Page 303 Section 5.2

96650
Typewritten Text
Question 44 Page 304 Section 5.2



241, Math 102, Major Exam I Page 2 of 7 MASTER

3. On the interval [0, π], lim
||4||→0

n∑
i=1

(2−ci sin ci)4xi, where ci is any point in the ith sub

interval, can be written as:

(a)

∫ π

0

2−x sinx dx (correct)

(b)

∫ 0

π

2−x sinx dx

(c)

∫ 2−π

0

sinx dx

(d)

∫ π

0

2x sinx dx

(e)

∫ π

0

2−x cosx dx

4.

∫ 3

1

4dx+

∫ 2

−2

√
4− x2 dx =

(a) 8 + 2π (correct)

(b) 4 + 2π

(c) 8 + π

(d) 4 + π

(e) 8− π
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5. Possible values of a and b that make the statement

∫ b

a

cosx dx = 0 true, are:

(a) a = π, b = 2π (correct)

(b) a = 0, b =
π

2

(c) c =
π

2
, b =

3π

2

(d) a = 0, b =
3π

2

(e) a =
π

2
, b = 2π

6.

∫ 2

0

|2x− 1| dx =

(a)
5

2
(correct)

(b)
7

2

(c)
9

2

(d)
3

2

(e)
11

2
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7. If F (x) =

∫ x2

2

1

t3
dt, then F ′(2) =

(a)
1

16
(correct)

(b)
1

32

(c)
1

8

(d)
1

4

(e)
1

2

8. The area of the region bounded by the graphs of the equations y = −x2 + 3x + 1
and y = −x+ 1 is

(a)
32

3
(correct)

(b)
31

3
(c) 11

(d)
34

3

(e)
35

3
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9.

∫ 3
√
ln 2

0

x2sech2x3 dx =

(a)
1

5
(correct)

(b)
2

5

(c)
3

5

(d)
7

5

(e)
6

5

10.

∫ 3

−2

dx

x2 + 4x+ 8
=

(a)
1

2
arctan

5

2
(correct)

(b) arctan
5

2

(c) arctan
3

2

(d)
1

2
arctan

3

2

(e) 2 arctan
2

5
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11.

∫
x(x− 2)

(x− 1)3
dx =

(a) ln |x− 1|+ 1

2(x− 1)2
+ c (correct)

(b) ln |x− 1|+ 1

(x− 1)2
+ c

(c) ln |x− 1|+ 2

(x− 1)2
+ c

(d) ln |x|+ 1

2(x− 1)2
+ c

(e) ln |x|+ 1

(x− 1)2
+ c

12.

∫
secx tanx

secx− 1
dx =

(a) ln | secx− 1|+ c (correct)

(b) ln | tanx− 1|+ c

(c) ln | secx+ 1|+ c

(d) ln | tanx+ 1|+ c

(e) ln | secx+ tanx|+ c
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13.

∫ π
2

−π2
(sin 4x+ cos 4x) dx =

(a) 0 (correct)

(b) 1

(c) 2

(d) −2

(e) −1

14.

∫ 2

0

xdx√
1 + 2x2

=

(a) 1 (correct)

(b) 2

(c) 3

(d) 4

(e) 5
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